0002130459687999

&0 ERXKYE 02—

2016 4F 55 1 [

1| ROMNZEZ L X0,

(2) logyp2 <031 AW SIDZ & &RL AR X,

Eu3BfRoEransnEozEqmnTiior

£HR 15 5Ca x 6Ca = 10X 15 = 1504

L

IIMnE>4d 0o F77% 13, 216,

3d - 2% 3= ¢1E].
s 2d = 3Ix4=1218
. d = 4 x5 = 2018

(2 28 =8192 < 10% ¢
9'0310213< ﬂogmf{)‘} &= !3&3;02<4-

& Qong < %

SET %(O.SOS’ SRR ﬂog:o?<0-31

(0 RATHEFMS 2F, 6F 05 28 45378 EAF, M1 0 :RF),

(1) Fm ET, EWICEITR S ADERME CNOHITERT S 6 ADOERZDWT, HWIZEEY &5 Eir6He 5
U DOEBIONREENRTARTELL, TOHHEd (d>0) 25X, N6 EHEH>TTEXE9TART
DEHEOEFEEROZ IV, F/2, INLEAFEDIH, EHETEWELEOMESE KD X\,

E3ns, ERFrzebukAAzEd. 150-(2+6+12+20) = (10 10

2

—




